CHRISTMAS

WORD PROBILIERMS #Al4

Solve the following word problems.

Brandon and Jetf are hanging ornaments on the Christmas tree. If there
were 14 ornaments in the box when they began, none left when they were
done and Brandon hung 5 of them, how many ornaments did Jeff hang
on the tree?

Gene recetved 23 Christmas cards at school. If Nancy recetves 5 more
cards than Gene, how many cards does Nancy have?

Tim and Doug are building snowmen. Tim's snowman has 6 buttons,
while the Doug's snowman has 10. How many more buttons does Tim's
snowman have than Doug's?

Nick starts wrapping his Christmas gifts at 4:00 p.m. He finishes at 6:30
p.m. How long did it take Nick to finish wrapping?

Santa loads his sleigh with 6 big bags of toys on Christmas Eve. At
midnight, 2 of the bags are empty. How many bags of toys are left?
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